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[For any individual]

1. Estimate total transmission loss, P°.., from the current condition

loss>

2. Randomly generate initial power output in feasible range

3. Set MWLeft =P, ¢

joad T Floss — I:)l,desired
4. While igen != n—1
5. Random the next power output of a generation in a feasible range

6. Compute new MWLeft
genleft genleft

7. If Z P, nin < MWLeft < ZPImaX then goto 13
i=1 i=1

genleft

8. Elseif ZP > MWLeft then
i=1

i,min =

9. forceup = true; bias randomly power output with higher level;
genleft

10. Else if ZP < MWLeft then
i=1

imax —
11. forcedn = true; bias randomly power output with lower level;
12. End

13. Check power balancing constraint

14. If violation = true then goto 2

15. Perform all genetic operators
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<MiN(P, o+ Posse + Riop)

0
r.naX(Pi,min 1 Pi,base - Ri,down)S Pi,desired = i,max 7 ' ibase iup

max(P P0 Ri,down)g P1 < mln(P”mx ’ Pi,(:jesired + Ri,up)

i,min * "i,desired — i,desired =

<min(P, o, Plikies + Rivo)

i,max * ' i,desired iup

PT_l Ri,down)S PT

i,desired i,desired =

max (P.

i,min 1
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[For any individual]
1. Whileintval =T

2. Estimate total transmission loss, P,gss, from the t condition
3. Randomly generate initial power output in feasible range

4. Set MWLeft = PIoad + Igss o Pl,desired
5. Whileigen!= n-1
6. Calculate new operating limits

7. Random the next power output of a generation in a feasible range
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10.

11.

12.

13.
14.
15.
16.
17.
18.

ant A o a R ) @ v o w a o a
4 ’mmﬁﬂaaﬂafmnmmuﬁtymmﬁ]@1mmmiwamsluaﬂymz'lmmm

Compute new MWLeft
genleft genleft

If Z P nin < MWLeft < zplmax then goto 15
— =)
genleft

Elseif » P, =MWLeft then
i=1

forceup = true; bias randomly power output with higher level;
genleft

Else if Z P ex < MWLeft then
i=1
forcedn = true; bias randomly power output with lower level;
End
Check power balancing constraint
If violation = true then goto 3
Perform all genetic operators

End

87



